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QID : 201 - In the following question, select the related word from the given alternatives.
Book : Pages : : Ladder: ?

Frafafed weT # Ry 7v et 7 & Tdfid o 3 gAT

b CH L L H @A 2
Options:

1) Steps

BH

2) Walking

AT

3) Parts

HIT

4) Levels

T

Correct Answer: Steps
hH

Candidate Answer: Steps
hSH

QID : 202 - In the following question, select the related word from the given al

Binocular: View::?:?

frafafad wed # fag v fdeeat # & Jdfd g & gl

Options:

1) Shovel : Scoop

BT ; FAPBTerT

2) Spanner : Guard

ATIAATEAT : I&(F

3) Tongs : Bore

famer : 85

4) Chisel : Grind

B ;O

Correct Answer: Shovel : Scoop
BT ; FAPBTeT

Candidate Answer: Shovel : Scoop
BT ; FABTeT

QID : 203 - In the following question, select the related letters from the given alternatives.
ABC: FFF:: MDP:?

FfafEa we # &g Mg fabedt # F deifdd srert & gfiv

ABC: FFF:: MDP:?

Options:

1) RRR

2) HHH

3) RHS

4) RSH
Correct Answer: RHS
Candidate Answer: RHS
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QID : 204 - In the following question, select the related letters from the given alternatives.
JMPQ : HKNO : : LCOP : ?

Ffafed weT # iy v faseat & & Heifod s1art @1 vl

JMPQ : HKNO : : LCOP : ?

Options:

1) JANM

2) JAMN

3) MAJP

4) JANN
Correct Answer: JAMN
Candidate Answer: JAMN

QID : 205 - In the following question, select the related number from the given alternatives.
11:1331::12:7?
frafafad ged ® &g v fdeed # & Jdfea g @1 gfgl

11:1331::12:?
Options:
1) 1728

2) 728

3) 1528

4) 1628 b
Correct Answer: 1728

Candidate Answer: 1728 /
QID : 206 - In the following question, select the related number from the given alternatifs.

6:215::8:?

FfafEa we # g 17 fawedt # I Heifoa W@ 1 gfv

6:215::8:?
Options:

1) 510

2) 511

3) 512

4) 520
Correct Answer: 511
Candidate Answer: 511

QID : 207 - In the following question, select the odd word pair from the given alternatives.

Frafafed weT # Gy 7v fipedt & & v 21 g &1 gfgl
Options:

1) Dog : Puppy

P : o

2) Horse : Mare

HreT : WS

3) Sheep : Lamb

0 : 99T

4) Cow : Calf

g 98871

Correct Answer: Horse : Mare
T : EEl

Candidate Answer: Horse : Mare
T : EEr

QID : 208 - In the following question, select the odd word pair from the given alternatives.

Ffafed ge7 # Ry 70 faeedt & & faww 2z gm &1 givl

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 2/61
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Options:

1) Quadrilateral : Four

T : IR

2) Octagon : Eight

YT : TS

3) Decagon : Ten

RNYST : T

4) Heptagon : Six

HECST : 8

Correct Answer: Heptagon : Six
HTST @ B

Candidate Answer: Heptagon : Six

T : B
QID : 209 - In the following question, select the odd letters from the given alternatives.

FrfefEa we § &g Mg faewedt # I fawm wert & gfgl

Options:
1) Sz

2) BJ
3) PW

4) MT
Correct Answer: B]
Candidate Answer: BJ

QID : 210 - In the following question, select the odd letters from the given alternatives.

FafafEa we # g Mg faeedt # I fawm srarY 3 gl

Options:
1) BY

2) DW

3)FT

4) KP
Correct Answer: FT
Candidate Answer: FT

QID : 211 - In the following question, select the odd number p ivély alternatives.
Frfefaa wed # g 17 fawedt # I fawm |
Options:

1)11-44

2)8-34

3)6-18

4)12-72

Correct Answer: 8 — 34

Candidate Answer: 8 — 34

QID : 212 - In the following question, select the odd number pair from the given alternatives.

FAfefEa me # g Mg fasedt  F fawm Fwar gm &1 gAv

Options:
1)72-92

2)33-53
3) 89 - 129

4) 60 — 80
Correct Answer: 89 — 129
Candidate Answer: 89 — 129

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 3/61
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QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Pinned
2. Provoke
3. Pasture
4, Pale

5. Pond

FfefET ereal @1 ereeier 31 aret A P 37FAR fod|

1. Pinned
2. Provoke
3. Pasture
4, Pale

5. Pond
Options:
1) 41352

2) 43152
3) 43512

4) 43215
Correct Answer: 43152
Candidate Answer: 43152

QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Pebble
2. Pager
3. Protect
4. Pest

5. Pray

il oreal @1 2reaepler # 3T aTet A & 3IAR foid|

1. Pebble
2. Pager
3. Protect
4. Pest

5. Pray
Options:
1) 21453

2) 24153

3) 25143 \0

4) 25413
Correct Answer: 21453
Candidate Answer: 21453

QID : 215 - A series is given with one term missing. Select correct alternative from the given ones that will complete the series.
MP, OR, QT, SV, ?

Ve AgepH foar T €, for e A U ue w21 2T e el 7 & a8 we faeed gAY, S 31gmH Bl IR |

MP, OR, QT, SV, ?

Options:

1) UX

2) TW

3)TU

4) XU
Correct Answer: UX
Candidate Answer: UX

QID : 216 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AAZ, CDX, EGV, ?
Ve 3gepH T T €, o ¥ Ue ue qw 21 QT Y et # F a8 WE fawed gv, St 3gmH B IR

AAZ, CDX, EGV, ?

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 4/61
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Options:
1) FGT

2) GIT
3) GHT

4) GIT
Correct Answer: GIT
Candidate Answer: GIT

QID : 217 - In the following question, select the missing number from the given series.
2,3,8,27,?

frafafad wed ® f&g 0 fdeedi § & g 3@ 31d Hife

2,3,8,27,?

Options:

1) 76

2)84

3) 112

4) 124
Correct Answer: 112
Candidate Answer: [ NOT ANSWERED ]

QID : 218 - In the following question, select the missing number from the given series.
3,17,73,297,?
FAfefEa we # g Mg fawed § I g 3id q BT

3,17,73,297,?
Options:

1) 1087

2) 1193

3) 2117

4) 2197
Correct Answer: 1193
Candidate Answer: [ NOT ANSWERED ]

QID : 219 - In a class of 52 children, Bilal's rank

52 At B U FerT §, faee o T A 311 di 2
Options:

1) 3?th

374

2) 33rd

33ar

3) 3.8th

38ar

4) 3$th

354

ttom. Salman is 9 ranks above Bilal. What is Salman's rank from the top?

IR B IR Y FAHH BT HIT T 87

Correct Answer: 33"
334r

Candidate Answer: [ NOT ANSWERED ]

QID : 220 - The ratio of present ages of Kamal and Vikram is 9 : 4. If the age of Kamal ten years ago was 44 years, then what is the present age (in years) of
Vikram?

A dT e BT adHT 3R BT 3101 9 @ 4 31 AR < af qd PBAA B 31 44 T geft, a7 faepA B At 31mg (ot #) wm 82
Options:

1) 24

2)28

3)20

4)22

Correct Answer: 24

Candidate Answer: 24

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID : 221 - Vikram remembers that his son Vihan's birthday is after 25t December. Vikram's wife remember that Vihan's birthday is after 23" December but before
27t December. On which date of December is Vihan's birthday?

firepm Y a1e; B BT 39 Y g &1 ST 25 RHmR & a1e 21 fdebH Pt et Bl ATE & B fagr &1 sl 23 Ramr & a1 difd 27 Rawr § vgat 81 fagm @1 s=fe
fewreR &Y pi- aE By &2

Options:
1) 23

2) 24
3) 25

4) 26
Correct Answer: 26
Candidate Answer: 26

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.
CORPORATION

Ffafed faeeal & & 98 2reg gAY ST T 10 2reg 3 378RT BT TN Fb T S ST Feba|

CORPORATION

Options:

1) RATIO

2) REPORT

3) PORT {

4) TORN ‘

Correct Answer: REPORT o

Candidate Answer: REPORT >
7 N N w

QID : 223 - In the following question, select the word which cannot be formed using the letters/of the Een word.

»

PARTICULARLY

FrfeifEd fabed § A a8 2 YT it 2T 1Y 2ree; & 378RT BT YT dep Tel

PARTICULARLY
Options:
1) RALLY

2) TALCUM
3) CULT

4) PART
Correct Answer: TALCUM
Candidate Answer: TALCUM

QID : 224 - In a certain code language, "TAIL" s written as "42" and "BANT" is written as "37". How is "GODY" written in that code language?

T faferse ®rs uT #, "TAIL" &F "42" fan Siar & 9t "BANT" &1 "37" @@ Sar 21 39 ®Is 9T # "GODY" &I g yaR forar smom?

Options:
1) 79

2)51
3) 68

4)73
Correct Answer: 51
Candidate Answer: 51

QID : 225 - In a certain code language, "CURING" is written as "XFIRMT" and "TRACED" is written as "GIZXVW". How is "LATELY" written in that code
language?

T faferse ®ig T #, "CURING" &Y "XFIRMT" foiwr STrdT € a2 "TRACED" &Y "GIZXVW" fa@T Sirar 21 3 &1s W1 # "LATELY" &' fosy UaRR o sirgmm?

Options:
1) QZXHQD

2) RXGVRC
3) 0ZGVOB

4) NXHVNB
Correct Answer: OZGVOB
Candidate Answer: OZGVOB

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 6/61
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QID: 226 - If "@" denotes "multiplied by", "$" denotes "subtracted from", "%" denotes "added to" and "&" denotes "divided by", then which of the following
equation must be true?

g "@" 1 378 "TuTT" €, "$" BT 37ef "Herd” &, "%" T 37ef "SiIs" & 7t "&" & 3vef "M €, ar FHfcifEd W d P a1 FHieer e 82
Options:

1)7%9&3$5=4

2)4%3@6$9=12

3)3@9%6&2 =230

4)6%9@2%$7=16
Correct Answer: 3@ 9 % 6 &2 =30
Candidate Answer: 3 @9 % 6 & 2 = 30

QID : 227 - In the following question, correct the equation by interchanging two numbers.
3-4+12x6+8=28
frafefEd wed ¥, fh=t < Il oY 3y ¥ RER qedd &y 17 GHiwr B 98 Hifsivl

3-4+12x6+8=28
Options:

1)3and 4

3dar4

2)4and 8

44dar 8

3)3and 8
3dar8

4)4and6

47dAT6

Correct Answer: 3 and 8

3dar8 .
Candidate Answer: 4 and 6 )
44dAT6 p— )

QID:228-1f4202a16 =146 and 3205a 18 = 77, then 420 4 a 39 = ?

afE4202a16 =1467213205a18 =778, 4204a39="2

Options:
1) 108
2) 125
3) 203
4) 184

Correct Answer: 125
Candidate Answer: [ NOT ANSWERED ]

QID:229-If6 A7B3=60and 11A9B 6 = 165, t 1B5="?

g6 A7B3=60daT11A9B6 =165%,d10A11B5="?

Options:
1) 105
2) 160
3) 165
4) 180

Correct Answer: 160
Candidate Answer: 160

QID: 230 -
In the following question, select the number which
can be placed at the sign of gquestion mark (7) from
the given alternatives.

TeafefaT uy # f&w 7w fpeur & @ uy e
(?) & TUE W A el = @ gEAT|

8 24 12 36 14 | 42
216 | 72 324 | 108 ? | 126

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1) 178

2) 252
3) 378

4) 630
Correct Answer: 378
Candidate Answer: 378

QID: 231 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

eaeea oy # or ow oeedt & @ uw e
(?) & TIET W A T FTEAT AT

3 4 2
[6 15[ 1] [7[19]5] [3[?[1]

4 2 9

Options:

1) 16

2) 17

3)18

4) 19

Correct Answer: 16
Candidate Answer: 16

QID: 232-
How many triangles are there in the givepfi

A

N

& 7% i # e

Options:
1) 16

2) 18
3) 20

4) 24
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 8/61
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How many triangles are there in the given figure?

& o st 3 Rt Fug ¥7

Options:
1) 16

2) 18
3)19

4) 20
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 234 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they

seem to be at variance from commonly known facts, read all the conclusions and then decide which of the gjven coficlusion logically follows the given statements.
iy
(L <5‘ />
{f"‘ V,\> N A,>

| AT ST a2l I =TT &1 Tabdl &1 It fsee ue 3R fosx fuifRa & 6

Statements:

I. All cups are plates.

II. No plate is spoon.

III. Some spoons are pens.

Conclusions:

I. Some pens are cups.

II. Some cups are spoons.
ITI. No cup is spoon.

IV. Some pens are not cups.

T W 70 UAF 77 H B Fe 3R 376 918 37 FeAl W AIIRA $B e g

fx e B F fied, &y g Pt & 3R W gl F

BYA:

I it By @i B

11. P Wi T9 T8l 81
111, 38 g 37 72 ¥

g

LB PFTEI

II. $& &Y T07

111. BIE B9 T &l 2

IV. & U1 39 el §

Options:

1) Only conclusion (II) and (III) follow
e ey (I1) qar fsee (111) T&t &

2) Only conclusion (IIT) and (IV) follow
Ppaet fspy (I11) der ey (1V) Tt €

3) Only conclusion (I) and (IV) follow
et TR (1) der fess (1V) T8t &

4) Only conclusion (I), (II) and (III) follow
Pae fisp (1), (II) der fwp (I11) Tdt &

Correct Answer: Only conclusion (III) and (IV) follow
oo fispe (I11) derr ey (1V) Te &

Candidate Answer: Only conclusion (III) and (IV) follow
oo fispe (I11) derr ey (1V) Te &

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID : 235 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All pens are pencils.

II. No pencil is eraser.

III. Some cups are erasers.

Conclusions:

1. Some cups are not pencils.
II. Some cups are not pens.
III. Some pencils are not cups.
IV. No pen is eraser.

T W M0 7P 77T | B P 3R 3P I16 37 HeA! W ARG B [Fepef Gy 0 &, FTeAifes 398 A 31a qeai & fi=rar &) Febat 81 ot e o ik fo i & {5
fox T B § e, &7 7Y Pl b YR W Yferrdmd €1

B
L. i 97 ufdet €1
11. BIE UfFe IR Ll 21
III. $B $Y X B

e

1. $® B Ufa T &

I1. $B P9 97 T8 €

11I. 35 UfFd &9 7E 2

IV. B 97 R T8l 1

Options:

1) Only conclusion (I), (II) and (III) follow
Ppaet By (1), (I1) qarm sy (I11) T8t &
2) Only conclusion (II) and (IV) follow
Ppael fisepy (I1) derr ey (1V) T8 &

3) Only conclusion (I), (II) and (IV) follow
Pae s (1), (II) der fAspd (Iv) 9et &
4) All conclusions follow

Tt e wEt &

Correct Answer: Only conclusion (I), (II) and (IV) follow

et fspY (1), (I1) qoT ey (V) I8 &

Candidate Answer: All conclusions follow

it feee gt &

QID : 236 -
From the given options, which ans
formed by folding the figu

frefofee fmedt 3 @ @i
# & 75 el FsEy S S

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 10/61
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Options:
1)
L

p |B

2)

4)

C

Correct Answer:

L

p |B

Candidate Answer: [ NOT ANSWERED ]

QID : 237 -

From the given options, which answer figure can be
formed by folding the figure given in the question?

e fweul & o ®ia o sngla wa &
TS HFT & AT TS S Hebal &2 @

N

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 11/61
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Options:

1)
2)
i
3)
A
o |®

»
~

\

Correct Answer:

Candidate Answer:

QID: 238- )

In the given figure, which number represents (/ > .
poisonous insects which are not black? )

& 7S HTpfa 7, Bl @1 e fates Fre
€ @ gnar §?

Poisonous/
fertram 1
2
3 Black/
Rl
Insects/ U
£ g
Options:
1)2
2)3
3)4
4)5

Correct Answer: 2
Candidate Answer: 2

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 12/61
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In the given figure, which alphabet/alphabets

represent old cars?

& od angfa #, FiF TR e que st @

gafanzaTa &f?

Old/gra

Options:
1)yandr
Yy qdaTr

2)y

3)a, yandb
a, ydarb
4)aandb
addTb

Correct Answer: y and r
ydarr

Candidate Answer: y

QID : 240 -

In the given figure, how many metallic balls a

heavy?

& 778 gt A, fraeh

Balls/

40

31

52

66

Metallic/AITg —»

Options:
1) 97

2)71
3)31

4) 66
Correct Answer: 31
Candidate Answer: 31

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c

Blue/

e

Heavy/
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QID: 241 -

Which answer figure will complete the pattern in the
guestion figure?

FieT T IR AFA T HPfa & TawT & g
FHL?

(A2
g

Options:

Correct Answer:

)

Candidate Answer:

/

QID : 242 -

Which answer figure will complete the pattern in the
guestion figure?

HiT H 3T I THF HHIT & IORT O
HLa?

-~J

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 14/61
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 243 -

From the given answer figures, select the
which the question figure is.ai dd

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 15/61
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Options:
1)

2)

3)

4)

Candidate Answer:

WV

QID: 244 -

From the given answer figures, select the
which the question figure is

& E IR wpfaat # |54

ra & oy gl BT E

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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Options:

1)

2)

3)

4)

[ P 1  R

Correct Answer:

yad

Candidate Answer:

X

QID : 245 -

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c

A piece of paper is folded and punched a
below in the question figure i
answer figures, indicate how

opened?

A & Uy Apia # GEm HaEn wee o

Staff Selection Commision

AIEHT DS AT Wil & dI5 de 1hH AT AR

s e game
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Options:
1)

N
-

w
-~

Y
-

&) | | 5

VA A
A A A

Correct Answer:

VA A
A A A

Candidate Answer:

VA A
A A A

QID : 246 -

A piece of paper is folded and punch
below in the question figu
answer figures, indicate h
opened?

#=r & U ptaar A
AT D T W & I
s e game

-y
ad
N

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 18/61
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Options:
1)

2

3

4

ey B3 (=] =]

Correct Answer:

3

Candidate Answer:

QID : 247 -

If a mirror is placed on the line AB
answer figures is the ri
figure?

IfE TF TUUT & AB
TaY Hpfaar # T Hid
e ufafeasa grefi?

A= B

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 19/61
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Options:
1)

2)

3)

4)

B D] B |

Correct Answer:

X

Candidate Answer:

X

QID : 248 -

If a mirror is placed on the line AB, then w
answer figures is the rig theS@iven
figure?

7fr T TOUT F AB I@l 0T T T

I9Y AGEAT # H Sl O H@ia 9H HHA Hr
e ufafesa 2rfr?

Ak B

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 20/61
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Options:
1)

2

3

4

& BB B

Correct Answer:

i

Candidate Answer:

i

QID: 249 -
A word is represented by only one set of numbers as giv
alternatives. The sets of numbers given in the iv

by two classes of alphabets as s
columns and rows of Matrix-l are num
are numbered from 5 to 9. A letter fr
first by its row and next by its colum
by 11, 42, etc., and ‘A’ can be rep
have to identify the set for the word *

Matrix-1i
represented

h e had Ud EAI-IWE ST Ul Star 5 fwedt # @
et v # I an §) Aot # B o -HHE HEWl @ gr aen
ERT geiv v § ofwr T Gw otw o) negpt # 1 ey & wEA AR
Ufh T HEar 0 @ 4 ¥ 3 el A 5§ 9) =4 HegEl ¥ Uh HEW A
upe 3@ ufes AR @G F T TEar R gefar S @ear ¥ Seredor
& faw ‘L @ 11, 42, R gRT G ST AHAT & W AT F 65, 96,
NG ER qRiar s @t ¥l e ate @ s uw # Bu weg “FIsH”
& foiw F@ap o ggaweEr

Matrix-| Matrix-1I

IR -l
0]1]2]13]4 5|6|718(9
a|P|LIY]F]L S9|H[S|E|A|P
TIFIL|PLL]Y 6|A[P/H|S|E
211 |¥Y|F|L]|P 7|S|E|A[P|H
3|L{(P|L]Y]|F 8P HIS|E[A
4 | Y[FILIPII 9|E/AIPIH|S
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Options:
1) 34, 02, 56, 67
2) 03, 20, 69, 79
3) 22,13, 75,98

4) 10, 43, 99, 55
Correct Answer: 22, 13, 75, 98
Candidate Answer: 22, 13, 75, 98

QID : 250 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4 and that of Matrix-ll
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example, ‘M’ can be represented
by 22 44, elc., and ‘T’ can be represented by 67, 96, etc. Similarly, you
have to identify the set for the word “CROPS”.

U QG had U HEAT-HAE SN GutEr TR §. ot fn Rt & &
Rl v & T wan §) et # e ow deurwdp dewl & gl au
grr geiiw v ¥ Sk fe R amw o) wempt # ¥ oamegg) & waew i
afeh 1 FEar 0 @ 4 & 31 IgEn A 5 F/ 9] I FGE § UE HeW @
Uedl 3EA Ufh AT ag # Toew ST gRT G S @ § e
& faw ‘M @ 22, 44, TG R R ST WHAT § AW T W 67, 96,
snfe g gt s whar ¥ 3 e @ amum ww A Ru g
“croPs” & foiw @Hg ® ugaEAT &

Matrix-1 Matrix-1l
-l -l
0[1[2]3]4 5[/6]7[8]9
O|M|C|O|SIN 5|TIU|Q[P|R
1|CI[N|S[M|O 6|PIR|T|U|Q
2[N|O|M[C[8 7lulQ[P|R|T
J|SIM[N|O|C 8|Q/P|IR|T|U
4|0|S[CINIM g/RITIU[Q|P

Options:
1) 10, 59, 02, 65, 00

2) 23, 78, 14, 99, 30
3) 42, 95, 40, 76, 03

4) 34, 66, 33, 86, 22
Correct Answer: 23, 78, 14, 99, 30
Candidate Answer: 23, 78, 14, 99, 30

QID : 251 - Which of the following is the prime reas

Frafafed ¥ & gerehifa &1 g BRoT B 32
Options:

1) Decrease in money supply

Toft g § et

2) Increase in money supply

9ot ofd % gf

3) Decrease in supply of goods

g B N Bt

4) Increase in government cash

THH Gl g

Correct Answer: Increase in money supply
it o A gf

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - What is Disposable Personal Income?

Fafaxie ya 3 I o7 3TITT €2
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Options:
1) Personal Income + Subsidies
feRTTd 3T + 3
2) Personal Income — Subsidies
HfeRTTd 37 — 3ga
3) Personal Income — Direct Taxes
3T — Y& X
4) Personal Income — Indirect Taxes
T — TITE
Correct Answer: Personal Income — Direct Taxes
fRITd 31T — TeIel

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - What is the full form of CRR?

ARIAR P 3Rifer BY R &2
Options:

1) Cash Return Ratio

RS aTIT 3T

2) Cash Reserve Ratio

e, TRTEN 3gaTd

3) Cash Revenue Ratio

P& TSI 37UTd

4) Cash Return Reserve

o, ITIRIT TRfErT

Correct Answer: Cash Reserve Ratio
Tepe, ITRTEIT 3gaTd

Candidate Answer: Cash Reserve Ratio

Tepe, ITRTEIT 3gaTd

QID : 254 - Which among the following is used to measure slope of indifference curve? )
P

FefafEd & & et waT srverTd a8 & e BI ATI & g T Siar 82

Options:

1) Marginal Rate of Transformation
Rada Bt Fafa R

2) Marginal Rate of Substitution

TfaeeT & Hwid R

3) Marginal Rate of Technical Substitution
AP FfRATY 6T THId &

4) None of these

ST A B T8

Correct Answer: Marginal Rate of Substituti
Tfdeem & Fid R

Candidate Answer: [ NOT ANSWERED ]

QID : 255 - 'Food For Work Programme' was introduce Five Year Plan?

frfafea ¥ 3 fog daadfa A & Tag 'SR & [0y @ie disHT 3R B e &2
Options:

1) Fifth

Yrert

2) Tenth

el

3) Seventh

[radt

4) Ninth
St

Correct Answer: Tenth
aar

Candidate Answer: [ NOT ANSWERED ]

QID : 256 - Which type of federalism is seen in India?

MRA # b8 YR T HedTg ST STdT 87

Options:

1) Coming together federation

T 3T Y F4[T

2) Holding together federation

T TR AT BT TS BIAT

3) Coming together federation and Holding together federation both
T TR T FAMT AT Y FATDR 15T BT TS B=AT Al

4) None of these

T A BIS TE
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Correct Answer: Holding together federation
HE ST 52T BT TS AT
Candidate Answer: [ NOT ANSWERED ]
QID: 257 -
Match the following.

T=efaa & fee fiftw)

Term / Asq Meaning / 319
1. Executive a. An institution empowered to administer
HRITTITIAT justice and provide a mechanism for
the resolution of legal disputes.
T el idleh &A1 oraeh ol =
T dUT Pt fAaet & Haer &
HUDHR T T
2. Judiciary b. An assembly of people’s
RIS E D representatives with the power to
enact laws for a country.
SAUTIATIAT 1 T3 oradh U g

BT DI g BT AP eial
3. Legislature c. A body of persons having authority to
EOIGEIE initiate major policies, make decisions
and implement them on the basis of
the constitution and laws of the

country. o
cafarat & o Aerr foas e ger )

¥ afIUE AT FEA F IMUR W
v Aifd g, et aE o 30
AN A BT AP ST B

<

Options:
1)1-¢,2-2a,3-b

2)1-b,2-¢c,3-a
3)1-a,2-¢,3-b

4)1-b,2-3a,3-c
Correct Answer: 1-c,2-a,3-b
Candidate Answer: [ NOT ANSWERED ]

QID:258-A government rules within limits'set by constitutional law and citizen right.

k&2 IBR HHTeb BILT dofT TR 31feBRY gRT @l fuffia damsi & i 8 em wdl 21

Options:

1) Autocratic
Reper

2) Democratic
ANBdiB

3) Monarchic
NELEEIC

4) Authoritarian
rferpRaT

Correct Answer: Democratic

GICTIIECT

Candidate Answer: Democratic

GICTIIECT

QID : 259 - What are the maximum number of seats fixed for Lok Sabha in India?

WRd B oAl I9T & AQ 3rfiean fat A fuffa &2
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Options:
1) 545 seats
545 I

2) 552 seats
552 ¥

3) 560 seats
560 ¥
4) 550 seats
550 I

Correct Answer: 552 seats
552 I

Candidate Answer: 552 seats
552 I

QID : 260 - Which of the following article deals with the appointment of Prime Minster of India?

FAfcfEd § & $1F A1 37ge8e YR & JuHwsT b [Hgfad 3§ gwif=id 8?

Options:
1) Article 356

3B 356

2) Article 32

3B 32

3) Article 75

3FgBT 75

4) Article 348

3BT 348

Correct Answer: Article 75
3BT 75

Candidate Answer: [ NOT ANSWERED ]

QID : 261 - Who among the following issues a notification for prorogation of legislative session? )
. p

fAfafed § 3 P furada a3 S TAffid B B 1fagEaT SR T 82
Options:

1) Speaker
ITafd

2) Chairman
el

3) President
gt

4) Prime Minister

T

Correct Answer: President

rgafa
Candidate Answer: [ NOT ANSWERED ]

QID : 262 - Which of the following fundamental right ha rom Indian Constitution?

Ffafed § & 7 a1 Aifae s1fteR MRdra Sadi 8 gl S gt 82

Options:

1) Right to freedom

LI BT

2) Right to speech

HTUT ST T BT NfOBR

3) Right to property

Hufe &1 31faFER

4) Right to equality

FHTAT BT 3IfIBER

Correct Answer: Right to property
TUfd &7 3fEHR

Candidate Answer: Right to property
TUf &7 PR

QID : 263 - Which among the following writ is issued by a court to a public official asking him to perform his official duties?

frafafaa o ¥ BT @ arfEeT a1 waRel B gRT bt IWBRT 3fIERT B 396 NfaHiRe Brf B & fAy & oIt 82

Options:
1) Prohibition

2) Mandamus
TRHTELA

3) Quo Warranto
7R BT

4) Habeas Corpus
<t ggfiaror
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Correct Answer: Mandamus
TRATELS

Candidate Answer: Mandamus
TIHTELT

QID : 264 - In which century, Qutub Minar of Delhi was built?

foper eraTedl o, fawelt T PR ST T T
Options:

1) 12th Century
12 ¥ eraredy

2) 13t Century
134 eraredt

3) 14t Century
14 oY Qrarest

4) 11 Century
11 ¥ eraredy

Correct Answer: 12t Century

12 ¥ eramedY
Candidate Answer: [ NOT ANSWERED ]

QID : 265 - Shatughai (Indus Valley Civilization site) is in which country?

orges (&Y aret maan) fea e v €2

Options:
1) India
HRd

2) Pakistan
rfdsear

3) Afghanistan
AT

4) Tibet

fossa

Correct Answer: Afghanistan

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - Who was the founder of Indian National Congress?

HRART AT BT F FEATIH B A?
Options:

1) Mahatma Gandhi

FETCHT TITET

2) Dr. B. R. Ambedkar

3) A.O. Hume

T AL gH

4) W.C. Banerjee

ey, Y. gSi

Correct Answer: A.O. Hume

T L e

Candidate Answer: A.O. Hume
T L e

QID : 267 - Who among of the following constructed the Panch Mahal at Fatehpur Sikri?

FAfefEd # & e BagqR el o Uer Heel ol [HHTUT SBearaT em?

Options:
1) Akbar
3peR

2) Jahangir
3'3 !

3) Shahjahan
2MmgsTal
4) Aurangzeb
IR C)

Correct Answer: Akbar
PR

Candidate Answer: [ NOT ANSWERED ]

QID : 268 - Mohenjo-daro was locally named as

TYET STies! BT AT ATH 2T
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Options:

1) Mound of desert
R BT Sl

2) Mound of delta
FEqE-YfH BT el
3) Mound of dead
AT BT e

4) Mound of life
Eipckakari

Correct Answer: Mound of dead
A\ T el
Candidate Answer: [ NOT ANSWERED ]

QID : 269 - On which of the following date, winter solstice is observed in Southern Hemisphere?

frafafad o 3 g fafer w feoh meng & oRdere 3A7d B <@ STrar 2?2

Options:

1) 5th August

5 3Rd

2) 10th August

10 37T&T

3) 15th February

15 et

4) 21th June

2157

Correct Answer: 21th June
2157

Candidate Answer: [ NOT ANSWERED ]

QID : 270 - Which of the following pair is CORRECT?

I. Prime Meridian — Longitude
II. Tropic of Cancer — Latitude
III. Equator — Latitude

fFAfefEa & & o a1 gm I &

1. JUT HeATE 38T — &ier
11. oeb I@T — 37817er

TI1. AE2RET — 378fier
Options:

1)Iand II

1 IT

2) I and III

1 T 111

3) II and III
11 qer I1I

4) All options are correct
ot fGped T € 1
Correct Answer: All options are correct

ft fGpeg Ter & 1

Candidate Answer: All options are correct

ft fGpeg Ter & 1

QID : 271 - Stalagmite is a kind of special deposition that is caused by which of the following?

TATHISE Ueb ThR T fady faid & St e & & fosa & BRoT 8idl 82

Options:

1) Glacier

fEwTe

2) Wind

ag

3) Surface water

HAE BT U

4) Underground water
VfeTa Tt

Correct Answer: Underground water
VfeTa Tt

Candidate Answer: [ NOT ANSWERED ]

QID : 272 - Which of the following water current is not a cold current?

FrefafEd & & S @ STeftg uRT U oftded uRT T8t 22
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Options:

1) Humbolt current
e URT

2) Brazil current
TSt ¥RT

3) Oyashio current
3NTferaT URT

4) Canary current
FARE YURT

Correct Answer: Brazil current

STSftel HRT
Candidate Answer: [ NOT ANSWERED ]

QID : 273 - Which of the following clouds are responsible for rainfall?

frefafEa & ¥ B 41 qrec a9t & fAav 3oRer g &2

Options:
1) Cumulonimbus

RIIA AR

2) Cumulostratus

TIRIAE T

3) Cumulocirrus

FIRIAIRT

4) Altocumulus
e TR RITH
Correct Answer: Cumulonimbus

RIIA AR

Candidate Answer: [ NOT ANSWERED ]

QID : 274 - Which of the following cell organelle is also called as 'Suicidal Bag of Cell'?

frfafEa o T g BIIPT 3T BT 'BIfABT Bl ATeTETdT AT PBaT ST 87

Options:
1) Mitochondria

2) Nucleus
oo

3) Nucleolus

4) Lysosomes
GREEEIR)

Correct Answer: Lysosomes
GREEAR)

Candidate Answer: [ NOT ANSWERED ]

QID : 275 - Where is Stapes bone found in human b

TBTE (RUST) 28 WHg 2R § aEl urs ST 62

Options:
1) Fingers
2) Nose
BIE

3) Ears
Cakl

4) Thumb
et

Correct Answer: Ears
Eag)

Candidate Answer: [ NOT ANSWERED ]

QID : 276 - Which of the following protein is found in nails?

Frefafed & & S a1 9 Tl § 9rar S 8?

Options:
1) Histone

2) Keratin

3) Elastin
ST
4) Actin
wfeT

Correct Answer: Keratin

AT
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Candidate Answer: Keratin

QID : 277 - Bamboo is a type of

TEATEWRE D ¢
Options:

1) Herb

STEr

2) Tree

g8l

3) Shrub

4) Grass
B2

Correct Answer: Grass
I

Candidate Answer: Tree
g&f

QID : 278 - Which among the following has open circulatory system?

1. Cockroach
II. Human
III. Prawn

Fefafed & & fad aifeebra aReeror yomed dt 82

1. faeraer
1L 7
111 gffm
Options:
1) Iand II
Iqr Il
2)Iand III
I aer IIT

3) II and III
IT qer 11T
4) Only IIT
e 111

Correct Answer: I and III
I der 111

Candidate Answer: I and III
I qar III

QID : 279 - How many canine teeth are there in ad

T e WIS W e eaed B 82

Options:
1)2

2)8
3)6

4) 4
Correct Answer: 4
Candidate Answer: 4

QID : 280 - Which of the following is CORRECT about Moon's gravitation?

Frafefaa & & BT |1 SeH P Rocrbyor & R § el 82

Options:
1) Moon's gravitation = 1/6th of Earth's gravitation

<IGHT BT RHETPYIT = Jedft P Roearpyor HT 1/6 at

2) Moon's gravitation = 1/6th of Mars gravitation

<IGHT BT TRETBYUT = HITA P BByl Bl 1/6 dT

3) Moon's gravitation = 1/8th of Earth's gravitation

TGHT BT THATHYT = Gedt F THaATHEoT HT 1/8 T

4) Moon's gravitation = 1/8th of Mars grawtatlon

TIGHT BT THATBYUT = HITA &b RoedTehyoT &7 1/8 af

Correct Answer: Moon's gravitation = 1/6th of Earth's gravitation
GHT BT THcATBYUT = Gedl & [Tyl BT 1/6 al

Candidate Answer: Moon's gravitation = 1/6th of Earth's gravitation

TGHT BT RHATHHOT = Gedt & TRoeTeeoT T 1/6 T
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QID : 281 - The force of attraction between an electron revolving around the nucleus and the nucleus is a force?

e B IRBAT B ATl Teb Soram A deiT AT & did bl 3MHyoT IfaRt T offeRT 1

Options:
1) Mechanical

gifas
2) Electric

fargefta

3) Magnetic
FEH

4) Gravitational

E 9

Correct Answer: Electric
fagdta

Candidate Answer: [ NOT ANSWERED ]

QID : 282 - Which of the following elements has the highest electrical conductivity?

frafafad § & fooa a@ &1 faga aradar sifeedan gt 82
Options:

1) Copper

GIEl

2) Silver

art

3) Zinc
ST
4) Lead
T

Correct Answer: Silver

gy
Candidate Answer: [ NOT ANSWERED ]

QID : 283 - In fluid mechanics, Mach number is 1, if the speed of an object is equal to the

oa Fifyebr ®, #e dwar 1 8 afg avg A il P R 87
Options:

1) Speed of light

BT BT i

2) Rotational speed of sun

T &Y T & goiT

3) Speed of sound

wafy & fd

4) Speed of revolution of earth around the sun

et &Y I BT gRYHOT B T

Correct Answer: Speed of sound

i Y T

Candidate Answer: Speed of sound

Y T

QID : 284 - Router is used in which of the following layer?

MR FHfdfEd ¥ F o orr ¥ wgam & it 82

Options:

1) Transport layer
ZRUIE W)

2) Network layer
AT AR

3) Physical layer
fosefiepe R

4) Application layer
Qoo waR

Correct Answer: Network layer

EECEACRY

Candidate Answer: Network layer

Aedh WA

QID : 285 - Which of the following language is used by computer to process data?

Frfafed & & 5T 9T &1 TR FrR gRT STeT WA B3 & i fosar Sirar 22
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Options:

1) Octanary
IITERY

2) Binary
fEamamt

3) Hexanary
YEIHTURY

4) Tertianary
[EEILIE

Correct Answer: Binary

fg3muRt

Candidate Answer: Binary

fgamuRt

QID : 286 - What is the chemical name of vinegar?

&R (fATR) F1 IS 19 7T 82

Options:

1) Acetic Acid

Tfafed st

2) Citric Acid

fafeew ara

3) Lactic Acid
3TF

4) Formic Acid

ifH® 3Rl

Correct Answer: Acetic Acid
3TFA

Candidate Answer: Acetic Acid
37FeA

QID : 287 - What is the common name of Calcium Hypochlorite?

PATIIH FTSUITARTSE BT FHT AT T 82
Options:

1) Water

STl

2) Bleaching powder

ST gizeR

3) Baking soda

Sfd Frer

4) Baking powder

qfeT Uiz

Correct Answer: Bleaching powder
AT qi3sY
Candidate Answer: [ NOT ANSWERED ]

QID : 288 - Which of the following has le,

frafafaa § F G99 B9 Teris fhadT 82

Options:
1) Carbon
Eactl

2) Silver
EIcil

3) Mercury
URT

4) Gold
[T

Correct Answer: Mercury
IRT

Candidate Answer: Mercury
URT

QID : 289 - 'Rn' is chemical symbol of which element?

'Rn’' {35 dca T IR fog &2
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Options:
1) Radium
Ko
2) Radon
B

3) Rhenium
3t

4) Ruthenium
Wl

Correct Answer: Radon
B

Candidate Answer: [ NOT ANSWERED ]

QID : 290 - Jhum cultivation refers to .

oA FiY J Heiferd 2

Options:

1) Terrace farming

Bd WY

2) Step farming

AT et

3) Shifting agriculture

FHTROT B

4) Jamun cultivation

ST & et

Correct Answer: Shifting agriculture
THTRUT HY

Candidate Answer: [ NOT ANSWERED ]

QID : 291 - Which of the following ecosystem has highest bio-mass?

frafafaa o 3 feg uRkfefae o o I 3i1ftie SRy I St 82

Options:

1) Desert Ecosystem
HBHE[T

2) Fresh water Ecosystem

et gt
3) Tundra Ecosystem

&l
4) Forest Ecosystem
T

Correct Answer: Forest Ecosystem
qq

Candidate Answer: [ NOT ANSWERED ]

QID : 292 - What was the main aim of Ramsar Conv:

AR AR BT B 3833 T &AT?

Options:

1) Conservation of wetlands
TR BT TREFT

2) Bio-diversity Conservation
Sta fafaerdT &1 TReroT

3) Global Warming

TelTet arfeT

4) Climate Change

SAarg IRadT

Correct Answer: Conservation of wetlands
T BT TRET

Candidate Answer: [ NOT ANSWERED ]

QID : 293 - Under UDAN scheme five operators will operate on 128 routes. Which among the following operator is not one of them?
IH AT & 3iaria ute Farele 128 Al W) Fered s Fafaf@d § & 5 a1 darede 3709 F v T8 82

Options:

1) Air Deccan

TI SFh

2) Air Odisha

TR 3fgar

3) Turbo Megha

T HET

4) Indigo

Correct Answer: Indigo

sfem
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Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who discovered Law of Conservation of Electric Charge?

fagra smaer & TR BT 9 BT @S fba fasar?

Options:

1) Michael Faraday

HSHA TS

2) Guglielmo Marconi

TR AT

3) Benjamin Franklin

IS PepferT

4) Isaac Newton

TSP =T

Correct Answer: Benjamin Franklin
e Pawfa

Candidate Answer: Michael Faraday
HSHA TS

QID : 295 - Shiva Thapa is related to which sports?

ferg amar fobw we & weifed 22

Options:
1) Football

2) Boxing
3) Gymnastic
formfes

4) Swimming

Correct Answer: Boxing

Candidate Answer: [ NOT ANSWERED ]

QID : 296 -
Match the following.

e &1 e e

Temple | #feT

1. Somnath Temple
HATY AT

2. Kamakhya Temple b. Tamil Nadu
FTATEN AR CIECEIE

3. Ramnathaswamy Temple c. Gujarat
THATY FAHT Al DENGH

4. Mahabodhi Temple d. Bihar
Ferafr Al faer

Options:
1) 1-b, 2-a, 3-d, 4-c

2) 1-c, 2-b, 3-a, 4-d
3) 1-c, 2-a, 3-b, 4-d

4) 1-b, 2-c, 3-a, 4d
Correct Answer: 1-c, 2-a, 3-b, 4-d
Candidate Answer: 1-c, 2-a, 3-b, 4-d

QID : 297 - Who has won 2017 Pulitzer Prize for ‘Underground Railroad?

'378RUT3E YeIE’ & fAT 2017 FT YfAioR R fba Sitar €2
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Options:

1) Lynn Nottage

o Arerst

2) Colson Whitehead

P TGRS

3) Tyehimba Jess

Nt S

4) Du Yun

ERSl

Correct Answer: Colson Whitehead

P FTSCeS
Candidate Answer: [ NOT ANSWERED ]

QID : 298 - Who has authored the book 'The Unseen Indira Gandhi'?

& 3T SR Tt gxaes fp foret 32

Options:

1) Jayram Naresh
STIRTH 9Ll

2) Dr. K. P. Mathur
1. &. T WRR

3) Dr. Anna Suvorova
S1. Q1 GaRTar

4) Santosh Singh
Tay &g

Correct Answer: Dr. K. P. Mathur
1. &. . WeR

Candidate Answer: [ NOT ANSWERED ]

QID : 299 - How many agreements were signed between India and Portugal on 7 January 2017?

7 SRt 2017 BT WRA q2T YA b dta fdsa Srgiial I swar foar 1 a7

Options:
1)3

2) 4

3)5

4)6

Correct Answer: 6

Candidate Answer: [ NOT ANSWERED ]
QID : 300 - India shares its least Internatiol

R\
WRA 39T RTSET T Ta & 5 o0  HlEiT
Options:
1) Pakistan
arfeeear

2) China

Gigl

3) Afghanistan
TR

4) Nepal
BRI
Correct Answer: Afghanistan

Candidate Answer: Afghanistan

QID : 301 - If N = (V8 + V6)/(V8 - V6), then what is the value of N - (1/N)?

g N = (V8 + V6)/(V8 - V6) &, aI N - (1/N) BT | &7 BII?

Options:

1)8v3

2) 14

3)7

4)0

Correct Answer: 83

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID: 302 -

Which one among %fg%fg and 51'1_2 is the largest?

¥6.45 T 12 # ¥ waw 9= ;T &2

Options:
1)

¥
2)
5
3)

%12

4) All are equal
It TR &

Correct Answer:
/5
Candidate Answer:

%{5

QID : 303 - What is the value of positive square root of 14 + 6v/5?

14 + 6V/5 BT UATHS I BT A T 82

Options:
1)3+V5

2)3-v5
3)5+V3

4)5-V3
Correct Answer: 3 + V5
Candidate Answer: 3 + V5

QID : 304 -

What is the value of 2
(0. 7) =

(0.7)° +(0.3)’
(0.7)° —0.7x0.3+(0.3)’

I Hlel T &7

Options:
1)1.2

2)0.8
3)1

4) 1.4
Correct Answer: 1
Candidate Answer: 1

QID : 305 - A boy added all natural numbers from 1 to 10, however he added one number twice due to which the sum becomes 58. What is the number which he
added twice?

T @8l 1 J 10 d% B T+t TTepfcies T3l $Y SiiedT € @i I8 Teb TEHT B Al IR SIS adl & forids BROT AT 58 8 STTdT 81 I8 P I T 2 fSre! 399 & IR ST 82
Options:

1)3

2) 4

3)7

4)8

Correct Answer: 3

Candidate Answer: 3
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QID : 306 - Ram is five times as efficient as Rohit. Ram can complete a work in 60 days less than Rohit. If both of them work together then in how many days the
work would be completed ?

19 Y emaT AfR F e T }1 70 v Bf B B ¥ Ak A 60 T B oar B1 af QY e 39 B B v €, A a8 ref fha & F g &

Options:

1) 10

2) 12.5

3)15

4) 20

Correct Answer: 12.5
Candidate Answer: 12.5

QID : 307 - A and B together can complete a work in 20 days. They started together but after 4 days A left the work. The remaining work was completed by B
alone in 24 more days. In how many days can A complete the entire work alone?

A T B U BT T fietae 20 a7 o qR1 @ Febd &1 I U A1 B AT 31T 3l § WRg 4 AT & 91 A B B15 a1 81 & B B 371bat 24 rfaRed &A1 # [ a=ar 21 A
Fguf BRI BT 31paT e feAT W T PR Hebal 82

Options:
1) 75

2) 25
3) 45

4) 60
Correct Answer: 60
Candidate Answer: 60

QID : 308 - What will be the net discount (in percentage) after two successive discounts of 20% and 10%?

20% T2AT 10% 1 & BiHE Be & 918 fAad (A2) Be (ufderd &) = gnft?

Options: >
1) 28 ) )

2)30

3)32

4) 42

Correct Answer: 28
Candidate Answer: 28

("‘)

W

QID : 309 - An article is sold for Rs 4080 after a discount of 15%. What is th in Rs) of the article?

15% &1 B & 1< Teb % BT 4080 &. H T T1aT &1 ag BT 3ifhad 74 (3. ?

Options:
1) 4600
2) 4800

3) 4950

4) 5150
Correct Answer: 4800
Candidate Answer: 5150

QID : 310 - A, B and C are partners and invest in a business. A invests 1/5th of total and B invests 1/4th of the total. What is the ratio of profit of A, B and C
respectively?

A, B @21 C HTSIGR € T2 T AR H 4391 3d €1 A Pl 7der BT 1/5 HIT d2T B ot far &1 1/4 W a2l o¥ar 81 AR A, B @i C & @ 3T 31g9Td a1 82

Options:

1)5:4:9

2)5:4:1

3)4:5:1

4)4:5:11

Correct Answer: 4 :5: 11

Candidate Answer: [ NOT ANSWERED ]

QID : 311 - Three bottles of equal capacity contain mixture of milk and water in ratio 2 : 3, 3 : 5 and 4 : 5 respectively. These three bottles are emptied into a large
bottle. What is the ratio of milk and water respectively in the large bottle?

1 FHTT &fdT T Sidell § gu T UTHT P fHS/0T &7 37gaTd Ak 2 : 3,3 : 5dT 4 : 5 81 &7 dF diadl &l b Jsi didel H TTell B T STrdT &1 a1 arael o Al Go qell
YTt T 37T T 82

Options:
1) 439 : 1080

2)439: 641
3) 439 : 360

4)439:79
Correct Answer: 439 : 641
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Candidate Answer: 439 : 641
QID : 312 - What is the average of first 17 odd numbers?

o 17 faww Izt &1 3ikaa o 87

Options:
1) 16

2) 17
3) 18

4) 19
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]

QID : 313 - The average of 4 consecutive even numbers is 51. What is the third number?

4 AT TH F@a73nt o1 3igd 51 &1 TR I o=m €2

Options:
1) 46

2) 52
3) 54

4) 56
Correct Answer: 52
Candidate Answer: 52

[

t is his loss percentage?

JAfed T RET ToedT 1230 B. # Tiear & aiT 180 B. IHH! AT W Fedl BT 81 Al a8 doet bl 1128§.ﬁ‘

Options:
1) 125

QID : 314 - Rohit buys an old bat for Rs 1230 and spends Rs 180 on its repairs. If he sells it for Rs 1128, AHER"
8, I 37T B Hfderd i 8?2

)

.
w

2) 15
3)20

4) 25
Correct Answer: 20
Candidate Answer: 20

QID : 315 - A trader sells two articles for Rs ne and losses 25% on other, then what is the value (in Rs) of the loss?

Ve ATIR AT a¥g3il BT 1875 ¥ Wfd a¥g & &M W

Options:

1) 150

2) 250

3) 400

4) 500

Correct Answer: 250

Candidate Answer: [ NOT ANSWERED ]

TR 25% T T TT GA ¥ R 25% B B Bkt €, a1 &1 BT A (3 H) 1 gw?

QID : 316 - If the price of milk increases from Rs 60/kg to Rs 70/kg, then by what percentage a person should decrease the consumption of milk so that
expenditure remains same?

Il o BT 4o 60 B. Tid fbuT. F Fea 70 . fd BT, & Il 8, @Y Teb fery &1 guf & @ud e Ufderd I W & &t @1y, dTfes Tl §HM Ya?

Options:
1) 16.66

2) 14.28
3) 12.33

4)17.33
Correct Answer: 14.28
Candidate Answer: [ NOT ANSWERED ]

QID : 317 - If length of a rectangle is increased by 20% and breadth is increased by 30%, then what will be the percentage increase in the area of rectangle?

& T Tad Bl TS W 20% HY Iig; T Ae1E W 30% HY Iig B St ], a7 3mad F &ABa ¥ b ufdera & gfg gnft?

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1) 50

2) 46
3) 56

4) 62
Correct Answer: 56
Candidate Answer: 56

QID : 318 - Two cars are travelling towards each other with speeds of 45 km/hr and 63 km/hr respectively. What is the distance (in kilometres) between the two
cars ten second before they collide?

3 AT T gaR B R HALK: 45 b7, Ul wfer qem 63 5.1, ufd der i 17 I 9 I &1 ToRE F 7 Jdbg Te 35 A fhart gf (fhelieiie &) gft?

Options:
1) 0.5
2)0.2
3)0.3

4) 0.45

Correct Answer: 0.3
Candidate Answer: [ NOT ANSWERED ]

QID : 319 - 29 boys are standing in a line such that distance between any two consecutive boys is same. A teacher takes 7 seconds to reach from first boy to 15th

boy. How much more time (in seconds) will he take to reach the 22nd boy?

29 TS T W U # 56 TR TS § o5 el 2t &Y T et 3 i Y gl T T 21 T fRierds e Wigh § 15 o TS A U # 7 e 7l €1 22 & 7Tk ab
uge N a8 feberT wwr (dpvs F) 3R e

Options:
1) 25

2)3

3)3.5 . \ "
4)4 j

Correct Answer: 3.5 o

Candidate Answer: 2.5 (/ >
-
n i any years, it will become 8 times?

QID : 320 - If a certain sum becomes 2 times in 5 years at compound interes|

fE BIE YRIFT Thqfg; <TsT W 5 auf & 2 AT &1 o7t €, af foba asif & a8
Options:
1) 10
2)20
3) 15

4) 30
Correct Answer: 15
Candidate Answer: 15

QID : 321 - A certain sum becomes Rs 840 in 3 years.and Rs 1200 in 7 years at simple interest. What is the value (in Rs.) of principal?

PIE YFRTIT ATYRYT ST W 3 g § 840 %. 7T 7 a8t # 1200 . 8 ST 81 HeTUA &1 A (B H) &1 8?2

Options:

1) 520

2) 570

3) 620

4) 670

Correct Answer: 570

Candidate Answer: 670
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QID:322-
The bar graph given below represents the number
of players of a college taking part in three games for
3 years.

= s gus R # 3 aul & T me wee #
g5 @t A dnT o g [entsar fr g @
T a3 g

B Cricket / fi¥e D Football / eater ®Hockey / gl

450
400
350
300
250 -
200 - —
150
100 -
50 -
0 -

Number of players
fRrenfE=i 6 aaan

2014 2015 2018
Year /g%

What is the total number of players playing all three games in 2015?

a9 2015 ¥ 1 GeT Fel dTel FEeAfeal B pel deam & 82

Options:
1) 950

2) 900
3) 1000

4) 1050
Correct Answer: 1000
Candidate Answer: 1000
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QID: 323 -
The bar graph given below represents the number
of players of a college taking part in three games for
3 years.

&= mF gus R # 3 aul & Rw ve wee #
g @t A dT o g Rentsar fr g @
T3 aram g

B Cricket / fide D Football / peater ®Hockey / giehr

450
400
350
300
250 -
200 - —
150
100 -
50 -
O -

Number of players
fRrenfE=i 6 @

2014 2015 2018
Year /g%

Number of players playing football in 2016 is how much percent less than the playel

T 2016 ¥ Bedld Vel arel fEersdl Ht Fear av 2014 H pedid Ta aret fEarfsar

&

Iaﬁg football in 20142

1) 14.28
2) 16.66
3) 33.33

4) 8.33
Correct Answer: 16.66
Candidate Answer: 16.66
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QID: 324 -
The bar graph given below represents the number
of players of a college taking part in three games for
3 years.

&= mF gus R # 3 aul & Rw ve wee #
g @t A dT o g Rentsar fr g @
T3 aram g

B Cricket / fide D Football / peater ®Hockey / giehr

450
400
350
300
250 -
200 - —
150
100 -

50 -

0 - - '
2014 2015 2016 ( )

Number of players
fRrenfE=i 6 @

Year /g%

T 2015 ¥ Bleb! WA a1t TSl &1 Twar af 2015 # It il Wel Vel ared 3 gfderd &2

Options:
1) 25

2)33.33 @
. \
4) 28

Correct Answer: 25
Candidate Answer: 25

Number of players playing hockey in 2015 is what percent of total players playing a&%{i«ee g es'ﬁ'n 2015?
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QID: 325-
The bar graph given below represents the number
of players of a college taking part in three games for
3 years.

= s gus R # 3 aul & T me wee #
g5 @t A dnT o g [entsar fr g @
T a3 g

B Cricket / fi¥e D Football / eater ®Hockey / gl

450
400
350
300
250 -
200 - —
150
100 -
50 -
0 -

Number of players
Rrenfa & swn

2014 2015 2018
Year /g%

Total number of players in 2015 is what percent of total number of players in 20167

Ty 2015 & Tt fEefa B Gwam af 2016 & Tt farfgal B Twam o1 fbdaT ufder.

Options:
1) 75

2) 1125 Q
3) 141.11
4) 133.33

Correct Answer: 133.33
Candidate Answer: [ NOT ANSWERED ]

QID : 326 - If diagonals of a rhombus are 36 ¢m and 48 cm, then what is the perimeter (in cm) of the rhombus?

Tfe folt Fragst & fawuf 36 T, doT 48 F.H. &, @l 38 FAaGS BT IRATT (J.H. §) 7 82

Options:
1) 30

2) 60
3) 120

4) 240
Correct Answer: 120
Candidate Answer: [ NOT ANSWERED ]

QID : 327 - Three spherical balls of radius 3 cm, 2 cm and 1 cm are melted to form a new spherical ball. In this process there is a loss of 25% of the material. What

is the radius (in cm) of the new ball?

A ey fSmdhT fisarg 3 A, 2 A, der 1 A, 2, B fAaare Te Far e g7 STrdT &1 29 fhar § 25% vere &1 I & oirdm €1 7 met & B (@48, §) 7@ 82

Options:
1)5

2)3
3)6

4)8
Correct Answer: 3
Candidate Answer: 3

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID : 328 - The perimeter of base of a right circular cone is 88 cm. If the height of the cone is 48 cm, then what is the curved surface area (in cm?) of the cone?

T R eI 2 % AR T gRETT 88 .. #1 I ofgp Y Famé 48 .. 2, Y 5T 9% TR et (.72 F) T2

Options:
1) 550

2) 1100
3) 2200

4) 2700
Correct Answer: 2200
Candidate Answer: [ NOT ANSWERED ]

QID : 329 - The radius of a wheel is 14 cm. What is the distance (in cm) travelled by the wheel in 15 revolutions?

T Ul &1 3o 14 AL #1115 gae § ufgar fbat g2 (J.A. H) 97 B

Options:
1) 440

2) 660
3) 1320

4) 1980
Correct Answer: 1320
Candidate Answer: 1320

QID : 330 - A cuboid of sides 9 cm, 27 cm and 24 cm is melted to form a cube. What is the ratio between tﬁQ tor{ surface area of the cuboid and that of the cube?

T g fraehY Yoty 9 A, 27 A, qar 24 A, &, B U T o ST STl €1 T 3R O b B BT T T 8?7
Options:

1)41:35 o 4

2)41:36 o

3)47:38 )

4)49: 36 )

Correct Answer: 41 : 36
Candidate Answer: [ NOT ANSWERED ]

\f"’")

QID: 331-1If (1/x) + (1/y) + (1/z) =0 and x + y + z = 7, then what is the +723- 3xyz?

A (LX) + (Uy) + (1/2) =0qTx +y +z =78, @ x3 +y3 + 23- 3xy

Options:
1) 49

2) 343
3) 1029
4) 2401

Correct Answer: 343
Candidate Answer: 343

QID : 332 - If x + (1/x) = 5, then what is the value of X8 + (1/x8)?

e x + (1/x) = 58, a1 x8 + (1/x8) &1 & @ gm?

Options:
1) 623
2) 627
3) 12098
4) 12102

Correct Answer: 12098
Candidate Answer: [ NOT ANSWERED ]
QID: 333 -

If x2+i2 = % for x = 0 then what is the value of

x>0 F B x2+x_*2=%a, = x4+)%?5r

AT FIT &7
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Options:
1)1

2) 17/16
3) 15/16

4)51/16

Correct Answer: 17/16
Candidate Answer: 17/16

QID: 334 -
-1

Staff Selection Commision

If x+;=—2,lhen what is the value of 1 + x3 + x5?

uﬁx+)—1=—2€r, ar 1+ + xS FT AT FW &7

Options:

1)0

2)1

3)2

4)-1

Correct Answer: 1

Candidate Answer: 1

QID: 335 -

What is the simplified value of

(H)_g(xhi
(Hﬂ(hi

FT TTAIGT AT FAT &7

Options:
1)

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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Correct Answer:
3.

X" ——
X

1
X ——
X
Candidate Answer: [ NOT ANSWERED ]

QID:336-InAABC, :A: :B: .C=5:4:1. Whatis the value (in degrees) of .B + .C?

MABCH, LA: .B:.C=5:4:1%1 B+ .CwI A (Gt &) wr &2
Options:

1) 50

2)70

3)90

4) 100

Correct Answer: 90

Candidate Answer: 90

QID : 337 - If O is the circum-center in APQR and -QOR = 40°, then what is the value (in degrees) of -QPR?

Jf& APQR &1 Ufehg O € daT .QOR = 40° &, a1 .QPR &1 A (fit #) @rm &2
Options:

1) 40

2) 60

3) 80

4) 20

Correct Answer: 20

Candidate Answer: 20

QID : 338 - In ADEF, AEFD = 90°, DF = 7 cm and EF = 24. What is the radius (in cm) of the cir

f& ADEF %, LEFD = 90°, DF = 7 3.7}, @7 EF = 24 971, &1 ADEF & uRga & fFwar (.4, ®

Options:
1) 26

2) 12,5
3)13

4) 25
Correct Answer: 12.5
Candidate Answer: 12.5

A

N

QID : 339 - In APQR, PQ = PR and the va

APQR #, PQ = PR € @2 .QPR BT AH R &

Options:
1) 30

e (St o) m €2

2) 45
3) 60

4)75
Correct Answer: 60
Candidate Answer: 60

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID : 340 -
In the given figure, ABC is a triangle in which, AB = 12
cm, AC = 8 cm and altitude AD =4 cm. If AE is the
diameter of the circum<ircle, then what is the length (in
cm) of circum-radius?

& 718 A A, ABCTe st St AB= 1234,
AC =603 Fur eifersa AD =403 & afx AE
4" g9 &1 =4 &, af o B f aFas @A A7)
FgT eEfre

Options:
1)6

2)8
3)9

4) 10
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

QID: 341 -

If cosec?B= g and B is acute, then

value of (JcotB + tanB

ot cosec28=% g

(JcotB + tanB] &FT AT

Options:
1)

NG

&

2)

5
23

3)

12

g

3
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Correct Answer:
5
2.3
Candidate Answer:
5
23
QID: 342 -

If (cosec?8-1)= % and B is acute, then whatis

the value of (qfcotB + tan 8]?

Tfe (cosecze—*l)=% AT 0 =TI &, A

2
[J'cotB % tane] FT JF FAT B
Options:
1) 13/5
2) 60/13

3)

V15

5 O

4> O
13

2415

Correct Answer:

13
2J15
Candidate Answer:

13

2115

QID : 343 -

If tanB= \/j and 8 is acut
13

S cosec? B — sec? El,?
cosec’ B = sec’B

at is the value

Tfg tan8=\/% qUT 6 FYFRIT &, ar

cosec’® — sec? B

T AT FIT &2
cosec? B + sec’B

Options:
1) 2/3

2) 3/4
3) 5/6

4) 6/7
Correct Answer: 6/7
Candidate Answer: [ NOT ANSWERED ]
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QID: 344 -
sin’ © sin’8 8 .
If + S and 8 is acute, then
1+cos’® 1-cos’B

what is the value (in degrees) of 87

2 2
sin“ 8 . sin“ 8 §ame%a¢rw%,

1-cos’8 1-cosiB 5
ar 6 & 7 (B &) w7 &2
Options:
1)0
2)30
3)45

4) 60
Correct Answer: 60
Candidate Answer: 60

QID : 345 - If sec? B - sec 6 = 1, then what is the value of (tan!2 6 - 3 tan10 8 + 3 tan8 6 - tan® 8)?

afE sec? B -sec B = 1 ¢, ar (tan!2 6 - 3 tanl0 @ + 3 tan® B - tan® B) @1 & T &7

Options:
1)-1

2)0
3)1

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 346 -

The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016
Total income of the family in 2016 = Rs 1

T frar @ T d o
ufar & wog & foaror (B
%l av 2016 # ol & g @ = 1080000 %.

Clothes/
FU3 Rent / rmar
50° 90°

Saving/
o
30°

Education/ Transport/

farear e
90° 40°

How much they spend (in Rs) on clothes?

32 BUL W a1 @ (3. H) fasam?

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1) 150000

2) 180000
3) 200000

4) 240000
Correct Answer: 150000
Candidate Answer: 150000

QID: 347 -
The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.
Total income of the family in 2016 = Rs 1080000
#@rr fer o g9 Ry & af 2016 & e e
ofa & wag & fagyor (B &) = s o
t1ay 2016 & uR@r & Fer 3T = 1080000 .

Clothes/

50° 90° \
Saving/ ( >

ﬁ? Food / ®Yer=T -\
30 i >
Education/ Transport/ / >

0 40°

Their expenditure on rent is what percentage of their expenditure

fHRTY W 37T 3, e W 3% g & fba

Options:
1) 33.33

2) 50
3) 100

4) 90
Correct Answer: 100
Candidate Answer: 100
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QID : 348 -

The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.
Total income of the family in 2016 = Rs 1080000
@ far o g9 By F a¥ 2016 & S v
TEaR & =g & fogwor (B &) & =it =
%1 ag 2016 3 of@r & g 317 = 1080000 %.

Clothes/
w93

Rent / frmar

50° 90°
Saving/
Eff Food / #¥srer
60°
Education/ Transport/
farem gRaga
90° 40°

What is the total expenditure (in Rs) on Rent, Food and Transport together? O
TORTY, HISH qer yRaed W AT ot fsaar o gam?
Options:

1) 450000

2) 390000

3) 570000

4) 500000
Correct Answer: 570000
Candidate Answer: 570000 \\
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QID : 349 -

The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.

Total income of the family in 2016 = Rs 1080000
@ far o g9 By F a¥ 2016 & S v
TEaR & =g & fogwor (B &) & =it =
%1 a9 2016 F gRar &I F&@ 319 = 1080000 &.

Clothes/
FI3 Rent / fFmar
50° 90°

Saving/
CEG)
30"

Education/ Transport/

fver qRaga
a0 40°

What will be the average (in Rs) of total income spent by the family on Education, Savings and Rent? O

fetem, a=ra qaT fav W T MY oo e 7 3 (. H) a7 gem?

Options:
1) 220000

2) 215000

3) 205000

4) 210000
Correct Answer: 210000
Candidate Answer: 210000 \\
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QID: 350 -

The following pie chart shows the distribution of
expenses (in degrees) of a family during 2016.
Total income of the family in 2016 = Rs 1080000
@ far o g9 By F a¥ 2016 & S v
Ufrar & =ag & foawor (B &) & i T
%1 a8 2016 3 oRar & Fa 37 = 1080000 3.

Clothes/
FI3 Rent / fFmar
50° 90°

Saving/
g i Food / iYatet
30 680°
Education/ Transport/
farem qRaga {
90° 40°

o

V e
Income of the family in the year 2015 was 20% less than that in the year 2016 and the ratio of their savf(g in 915 and 2016 is 2 : 5. Approximately what
percentage they saved in the year 2015? Q

uRaR HI 317 a9 2015  aF 2016 HT 317 F 20% ¥ 2ff 3R af 2015 Fem a 2016 F 3BT TP z,;)sél g 2015 H 3% YA 3T BT T b fderd =
5 o (/ LN

Options: }
1)6.17

v

2) 4.166
3)3.24

4) 5.66
Correct Answer: 4.166
Candidate Answer: [ NOT ANSWERED ]

QID : 351 - In the following question, some part of the e errors. Find out which part of the sentence has an error and select the appropriate

option. If a sentence is free from error, select ‘No Error'.

Roshni always want (1)/ to get the best of facilities (2)/ whether she deserves it or not. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: 2

QID : 352 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Rohan's mother advised (1)/ him not to drive the (2)/ car lately at night. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 353 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I insisted but neither Praveen or his (1)/ friend Bharat is ready (2)/ to work on holiday. (3)/ No Error (4)
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Options:

1)1

2)2

3)3

4)4

Correct Answer: 1
Candidate Answer: 1

QID : 354 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Prabhat is impressed by his (1)/ younger brother because he is cleverer (2)/ and amusing than he is. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 355 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

In order to reach his office on time (1)/ Rohan has jogged two miles a day (2)/ until he bought his bike. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4
Correct Answer: 2
Candidate Answer: 2

v

/
£

R
QID : 356 - In the following question, the sentence given with blank to be filled in with an appropriate v{ord. SeI;ct the correct alternative out of the four and
\, -

indicate it by selecting the appropriate option. —
h

Options: N “
1) to

2) with

3) of

4) from

Correct Answer: to

Candidate Answer: to

My house is adjacent Central park. ’ < )
} N

4

QID : 357 - In the following question, the sente
indicate it by selecting the appropriate option®

in with an appropriate word. Select the correct alternative out of the four and

I prefer walking
Options:

1) than

2) while

3)to

4) upon

Correct Answer: to
Candidate Answer: to

jogging because I en rcise of walking much more than jogging.

QID : 358 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Rohan for this company since 2007.
Options:

1) has been working

2) is working

3) had worked

4) worked

Correct Answer: has been working
Candidate Answer: has been working

QID : 359 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Though he is old he is strong.
Options:

1) but

2) yet

3) till

4) although

Correct Answer: yet

Candidate Answer: yet
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QID : 360 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and

indicate it by selecting the appropriate option.

She is a little suspicious Naraine's true intentions.
Options:

1) on

2) of

3) with

4) for

Correct Answer: of

Candidate Answer: on

QID : 361 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Antipathy

Options:

1) Clumsy

2) Dislike

3) Annoying

4) Afraid

Correct Answer: Dislike
Candidate Answer: Dislike

QID : 362 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Dearth
Options:
1) reduce

2) contrast {
3) shortage

P LN
4) glorify ‘
Correct Answer: shortage
“t . N el

Candidate Answer: shortage

QID : 363 - In the following question, out of the four alternatives, select the word similar jn~meging tg)he word given.
N el

Piquant

Options:

1) distressing

2) gabble

3) appealing

4) pliable

Correct Answer: appealing

Candidate Answer: [ NOT ANSWERED ]

QID : 364 - In the following question, out of the elect the word similar in meaning to the word given.

Presumptuous
Options:

1) arrogant

2) negligent

3) resonant

4) assumption

Correct Answer: arrogant
Candidate Answer: assumption

QID : 365 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Stentorian

Options:

1) loyal and committed

2) extremely loud

3) unnecessary

4) very strict

Correct Answer: extremely loud
Candidate Answer: [ NOT ANSWERED ]

QID : 366 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Tedious
Options:

1) ambiguity
2) interesting
3) incidental
4) devotional

Correct Answer: interesting
Candidate Answer: [ NOT ANSWERED ]
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QID : 367 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Turbulent

Options:

1) vivacious

2) peaceful

3) prophecy

4) affirm

Correct Answer: peaceful
Candidate Answer: peaceful

QID : 368 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Ulterior

Options:

1) damp

2) hoarse

3) defiant

4) overt

Correct Answer: overt

Candidate Answer: [ NOT ANSWERED ]

QID : 369 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Vanity

Options:

1) zest

2) abdicate

3) conceit

4) modesty

Correct Answer: modesty
Candidate Answer: modesty

QID : 370 - In the following question, out of the four alternatives, select the word opposite in m 'ﬁing~:§ eWord given.

Malaise

Options:

1) despair

2) sickness

3) healthy

4) enervation

Correct Answer: healthy

Candidate Answer: healthy

v

QID : 371 - In the following question, out of ternative which best expresses the meaning of the idiom/phrase.

A cock and bull story
Options:

1) An important story
2) An imaginary story
3) A long story

4) A short story

Correct Answer: An imaginary story
Candidate Answer: An imaginary story

QID : 372 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Black ox

Options:

1) Nervous

2) Impossible

3) Misfortune

4) Ugly

Correct Answer: Misfortune
Candidate Answer: [ NOT ANSWERED ]

QID : 373 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Broke a lance with
Options:

1) To appear suddenly
2) To argue against
3) To burst out

4) To break promise

Correct Answer: To argue against
Candidate Answer: To break promise

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 55/61



04/08/2017 Staff Selection Commision

QID : 374 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Cry wolf

Options:

1) To condemn

2) To praise aloud

3) To raise a false alarm
4) Clamour

Correct Answer: To raise a false alarm
Candidate Answer: To condemn

QID : 375 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Broke Reed
Options:

1) Stiffness

2) To break trust

3) Support that failed
4) To break peace

Correct Answer: Support that failed
Candidate Answer: To break trust

QID : 376 - Improve the bracketed part of the sentence.

The burglar (broke in) Mr. Mehta's house last night.
Options:

1) broke open

2) broke through

3) broke into

4) no improvement

Correct Answer: broke into
Candidate Answer: broke into

QID : 377 - Improve the bracketed part of the sentence.

No sooner (he had returned home then) his grandparents felt happy.
Options:

1) did he return home than

2) he had returned home than

3) had he returned home when

4) no improvement

Correct Answer: did he return home than

Candidate Answer: did he return home than

QID : 378 - Improve the bracketed part of th

Ayesha purchased (the very good) of all the s
Options:

1) the most good

2) the best

3) the very better

4) no improvement

Correct Answer: the best
Candidate Answer: the best

QID : 379 - Improve the bracketed part of the sentence.

The train (left) before she reached the station.
Options:

1) would have left

2) has had left

3) had left

4) no improvement

Correct Answer: had left
Candidate Answer: had left

QID : 380 - Improve the bracketed part of the sentence.

My opinion (for) this film is that it will buy the Oscar award.
Options:

1)on

2) about

3)to

4) no improvement

Correct Answer: about

Candidate Answer: about
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QID : 381 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A short journey for pleasure
Options:

1) holiday

2) stroll

3) excursion

4) sniper

Correct Answer: excursion
Candidate Answer: excursion

QID : 382 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Receiving guests warmly
Options:

1) hospitality

2) philanderer

3) docility

4) obituary

Correct Answer: hospitality
Candidate Answer: hospitality

QID : 383 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Science of the constitution of the whole universe
Options:

1) ethnology

2) ornithology

3) physiology
4) cosmography

Correct Answer: cosmography
Candidate Answer: cosmography

v

QID : 384 - In the following question, out of the four alternatives, select the alternative which istfie best Ubstitute of the phrase.

(

Tale that brings bad reputation to somebody
Options:

1) pantheon

2) felony

3) scandal

4) portico

Correct Answer: scandal

Candidate Answer: [ NOT ANSWERED ]

’” v
W

)

v

QID : 385 - In the following question, out of ternative which is the best substitute of the phrase.

A man who is recovering from illness.
Options:

1) dilettante

2) emeritus

3) convalescent

4) bohemian

Correct Answer: convalescent

Candidate Answer: convalescent

QID : 386 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) commission

2) commentary

3) commitee

4) competition

Correct Answer: commitee
Candidate Answer: competition

QID : 387 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) millennium
2) millionaire
3) millenerian
4) manageable

Correct Answer: millenerian
Candidate Answer: millionaire

QID : 388 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
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Options:

1) patience
2) pancreas
3) omnisceint
4) occurrence

Correct Answer: omnisceint
Candidate Answer: omnisceint

QID : 389 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) quiesence

2) quotient

3) quinine

4) questionnaire

Correct Answer: quiesence

Candidate Answer: quiesence

QID : 390 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) mellifluence

2) seudomonas

3) syndrome

4) vicissitude

Correct Answer: seudomonas

Candidate Answer: seudomonas

QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

World unity will bring many great . Life will become happier and more on account of the eliminatio o{fear of . war and mental tension. With the
of machinery man will be relieved of the of monotonous and hard physical labour. The pressur€ ofidepression and discontent will be lifted and the
whole world will become man's own home.

World unity will bring many great . —
Options: (

1) consequences P \

2) advantages / |

3) personalities }
4) resources

Correct Answer: advantages

Candidate Answer: advantages

QID : 392 - In the following passage some of the words
blank out of the four alternatives.

. Read the passage carefully and select the correct answer for the given

on account of the elimination of fear of war and mental tension. With the
ysical labour. The pressure of depression and discontent will be lifted and the

World unity will bring many great . Life
of machinery man will be relieved of the
whole world will become man's own home.

more on account of the elimination of fear of war
Options:

1) secure

2) sophisticated

3) complicated

4) sensible

Correct Answer: secure
Candidate Answer: secure

QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

World unity will bring many great . Life will become happier and more on account of the elimination of fear of war and mental tension. With the
of machinery man will be relieved of the of monotonous and hard physical labour. The pressure of depression and discontent will be lifted and the
whole world will become man's own home.

With the of machinery
Options:

1) introduction

2) repair

3) installation

4) elimination

Correct Answer: introduction
Candidate Answer: introduction
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QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

World unity will bring many great . Life will become happier and more on account of the elimination of fear of war and mental tension. With the
of machinery man will be relieved of the of monotonous and hard physical labour. The pressure of depression and discontent will be lifted and the
whole world will become man's own home.

relieved of the of monotonous and hard physical labour.
Options:

1) fewer

2) drudgery

3) piety

4) ardor

Correct Answer: drudgery

Candidate Answer: [ NOT ANSWERED ]

QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

World unity will bring many great . Life will become happier and more on account of the elimination of fear of war and mental tension. With the
of machinery man will be relieved of the of monotonous and hard physical labour. The pressure of depression and discontent will be lifted and the
whole world will become man's own home.

The pressure of depression and discontent will be lifted
Options:

1) atmospheric

2) decreasing

3) constant

4) blood

Correct Answer: constant

Candidate Answer: decreasing

s,

QID : 396 - A passage is given with five questions following it. Read the passage carefully ar,ﬂ select the best answer to each question out of the
given four alternatives.

.

‘ |
4 a
Morality is identified with ethics and symbolizes the doctrine of actions right or wrong. Politics is the notion of expediency and need not always by right. If something
is wrong and merely expedient; it cannot be moral. To put it the other way round, whatever is riépt or just, or born of sound principles and designed to promote the
social good, cannot be immoral. There appears a basic confrontation between morality and‘politics.:
The great Utilitarian Bentham maintains that, "The greatest happiness of the gre eét\mffnbers is\the foundation of morals and legislation." However, often it is found
that there is a conflict between convictions and principles, on the one hand, and 'xn?é;n the other. Thus, morality and politics do not often go hand in hand,

for politics is based upon expediency and its foundations are of 'power'. Power cor: absolute power corrupts absolutely, said Lord Acton and surely enough,
corruption cannot breed morality. While morality establishes justice and fair pl
Morality requires an equitable distribution of wealth, goods and commodities a

idney Hillman opines, is the science of who gets what, when and why.
ies while politics reeks of opportunism, of grabbing and seizing whatever
while the politicians are generally selfish and self-seeking. All this goes to
it€rates the story of a struggle for power, for perpetuating the safe citadel, and for
g more than a bitter rivalry and quest for power by ousting all other rivals. Means
ctives are duly achieved and fulfilled. On the other hand, morals and morality do not

keeping at bay any kind of opposition or criticism. Political partie:
and methods are thrown to the winds as long as selfi
permit the adoption of just any means. Valu
righteousness, have undergone a radical chang
for the sake of expediency and quick gains. The ¢
Opportunism has become a matter of faith with politi
politics and well illustrates Johnson's dictum of patriotis|

of the cherished old values and morals are being sacrificed at the altar of circumstances
sphere and scene in most parts of the world is devoid of moral ardour and sound convictions.
g even a slight bent of mind towards politics. Patriotism has come to be identified with
fuge of scoundrels.

What do you mean by the line "Politics is the notion of expediency"?
Options:

1) politics promotes social good

2) politics proves everything to be right even if it is wrong

3) politics is an indispensable part of one's life

4) politics ensures moral justice

Correct Answer: politics proves everything to be right even if it is wrong
Candidate Answer: [ NOT ANSWERED ]

QID : 397 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Morality is identified with ethics and symbolizes the doctrine of actions right or wrong. Politics is the notion of expediency and need not always by right. If something
is wrong and merely expedient; it cannot be moral. To put it the other way round, whatever is right or just, or born of sound principles and designed to promote the
social good, cannot be immoral. There appears a basic confrontation between morality and politics.

The great Utilitarian Bentham maintains that, "The greatest happiness of the greatest numbers is the foundation of morals and legislation." However, often it is found
that there is a conflict between convictions and principles, on the one hand, and expediency on the other. Thus, morality and politics do not often go hand in hand,
for politics is based upon expediency and its foundations are of 'power'. Power corrupts, and absolute power corrupts absolutely, said Lord Acton and surely enough,
corruption cannot breed morality. While morality establishes justice and fair play, politics, as Sidney Hillman opines, is the science of who gets what, when and why.
Morality requires an equitable distribution of wealth, goods and commodities and opportunities while politics reeks of opportunism, of grabbing and seizing whatever
you can, irrespective of the needs and claims of others. Morality stands for justice of all, while the politicians are generally selfish and self-seeking. All this goes to
show that morality and politics do not go together. Any democracy today merely reiterates the story of a struggle for power, for perpetuating the safe citadel, and for
keeping at bay any kind of opposition or criticism. Political parties symbolize nothing more than a bitter rivalry and quest for power by ousting all other rivals. Means
and methods are thrown to the winds as long as selfish short-term aims and objectives are duly achieved and fulfilled. On the other hand, morals and morality do not
permit the adoption of just any means. Values are the foremost consideration. The traditional values which are in themselves moral, and symbols of rectitude and
righteousness, have undergone a radical change in our modern times. Most of the cherished old values and morals are being sacrificed at the altar of circumstances
for the sake of expediency and quick gains. The current political atmosphere and scene in most parts of the world is devoid of moral ardour and sound convictions.
Opportunism has become a matter of faith with politicians or those having even a slight bent of mind towards politics. Patriotism has come to be identified with
politics and well illustrates Johnson's dictum of patriotism being the last refuge of scoundrels.

What does 'greatest numbers' refers to in the first line of the second paragraph of the passage?
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Options:

1) people at large

2) big organizations

3) wealth of the people

4) politicians of the country

Correct Answer: people at large
Candidate Answer: people at large

QID : 398 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Morality is identified with ethics and symbolizes the doctrine of actions right or wrong. Politics is the notion of expediency and need not always by right. If something
is wrong and merely expedient; it cannot be moral. To put it the other way round, whatever is right or just, or born of sound principles and designed to promote the
social good, cannot be immoral. There appears a basic confrontation between morality and politics.

The great Utilitarian Bentham maintains that, "The greatest happiness of the greatest numbers is the foundation of morals and legislation." However, often it is found
that there is a conflict between convictions and principles, on the one hand, and expediency on the other. Thus, morality and politics do not often go hand in hand,
for politics is based upon expediency and its foundations are of 'power'. Power corrupts, and absolute power corrupts absolutely, said Lord Acton and surely enough,
corruption cannot breed morality. While morality establishes justice and fair play, politics, as Sidney Hillman opines, is the science of who gets what, when and why.
Morality requires an equitable distribution of wealth, goods and commodities and opportunities while politics reeks of opportunism, of grabbing and seizing whatever
you can, irrespective of the needs and claims of others. Morality stands for justice of all, while the politicians are generally selfish and self-seeking. All this goes to
show that morality and politics do not go together. Any democracy today merely reiterates the story of a struggle for power, for perpetuating the safe citadel, and for
keeping at bay any kind of opposition or criticism. Political parties symbolize nothing more than a bitter rivalry and quest for power by ousting all other rivals. Means
and methods are thrown to the winds as long as selfish short-term aims and objectives are duly achieved and fulfilled. On the other hand, morals and morality do not
permit the adoption of just any means. Values are the foremost consideration. The traditional values which are in themselves moral, and symbols of rectitude and
righteousness, have undergone a radical change in our modern times. Most of the cherished old values and morals are being sacrificed at the altar of circumstances
for the sake of expediency and quick gains. The current political atmosphere and scene in most parts of the world is devoid of moral ardour and sound convictions.
Opportunism has become a matter of faith with politicians or those having even a slight bent of mind towards politics. Patriotism has come to be identified with
politics and well illustrates Johnson's dictum of patriotism being the last refuge of scoundrels.

Which of the following statement is 'INCORRECT" with respect to the passage?

Options:

1) morality stands for justice for all

2) power is the foundation of politics

3) morality and politics do not often go hand in hand

4) morals and morality permit the adoption of just any means

Correct Answer: morals and morality permit the adoption of just any means 4

Candidate Answer: [ NOT ANSWERED ] {
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QID : 399 - A passage is given with five questions following it. Read the passage caref§ully and select the best answer to each question out of the
given four alternatives. ’ ;

is the notion of expediency and need not always by right. If something
is right or just, or born of sound principles and designed to promote the

Morality is identified with ethics and symbolizes the doctrine of actions right or
is wrong and merely expedient; it cannot be moral. To put it the other way roi

social good, cannot be immoral. There appears a basic confrontation betweemsoralitg@nd politics.

The great Utilitarian Bentham maintains that, "The greatest happiness of tf umbers is the foundation of morals and legislation." However, often it is found
that there is a conflict between convictions and principles, on th xpediency on the other. Thus, morality and politics do not often go hand in hand,
for politics is based upon expediency and its foundations orrupts, and absolute power corrupts absolutely, said Lord Acton and surely enough,

corruption cannot breed morality. While morali
Morality requires an equitable distribution of W
you can, irrespective of the needs and claims of o
show that morality and politics do not go together.
keeping at bay any kind of opposition or criticism. Politi

t€s and opportunities while politics reeks of opportunism, of grabbing and seizing whatever
ds for justice of all, while the politicians are generally selfish and self-seeking. All this goes to
merely reiterates the story of a struggle for power, for perpetuating the safe citadel, and for
ize nothing more than a bitter rivalry and quest for power by ousting all other rivals. Means
and methods are thrown to the winds as long as selfish s s and objectives are duly achieved and fulfilled. On the other hand, morals and morality do not
permit the adoption of just any means. Values are the foremost consideration. The traditional values which are in themselves moral, and symbols of rectitude and
righteousness, have undergone a radical change in our modern times. Most of the cherished old values and morals are being sacrificed at the altar of circumstances
for the sake of expediency and quick gains. The current political atmosphere and scene in most parts of the world is devoid of moral ardour and sound convictions.
Opportunism has become a matter of faith with politicians or those having even a slight bent of mind towards politics. Patriotism has come to be identified with
politics and well illustrates Johnson's dictum of patriotism being the last refuge of scoundrels.

What can be the suitable title to the passage?

Options:

1) Right means truth, values important to morality

2) Politics- selfish and self seeking

3) Politics based on power and power corrupts

4) Morality and politics don't go together

Correct Answer: Morality and politics don't go together
Candidate Answer: [ NOT ANSWERED ]
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QID : 400 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Morality is identified with ethics and symbolizes the doctrine of actions right or wrong. Politics is the notion of expediency and need not always by right. If something
is wrong and merely expedient; it cannot be moral. To put it the other way round, whatever is right or just, or born of sound principles and designed to promote the
social good, cannot be immoral. There appears a basic confrontation between morality and politics.

The great Utilitarian Bentham maintains that, "The greatest happiness of the greatest numbers is the foundation of morals and legislation." However, often it is found
that there is a conflict between convictions and principles, on the one hand, and expediency on the other. Thus, morality and politics do not often go hand in hand,
for politics is based upon expediency and its foundations are of 'power'. Power corrupts, and absolute power corrupts absolutely, said Lord Acton and surely enough,
corruption cannot breed morality. While morality establishes justice and fair play, politics, as Sidney Hillman opines, is the science of who gets what, when and why.
Morality requires an equitable distribution of wealth, goods and commodities and opportunities while politics reeks of opportunism, of grabbing and seizing whatever
you can, irrespective of the needs and claims of others. Morality stands for justice of all, while the politicians are generally selfish and self-seeking. All this goes to
show that morality and politics do not go together. Any democracy today merely reiterates the story of a struggle for power, for perpetuating the safe citadel, and for
keeping at bay any kind of opposition or criticism. Political parties symbolize nothing more than a bitter rivalry and quest for power by ousting all other rivals. Means
and methods are thrown to the winds as long as selfish short-term aims and objectives are duly achieved and fulfilled. On the other hand, morals and morality do not
permit the adoption of just any means. Values are the foremost consideration. The traditional values which are in themselves moral, and symbols of rectitude and
righteousness, have undergone a radical change in our modern times. Most of the cherished old values and morals are being sacrificed at the altar of circumstances
for the sake of expediency and quick gains. The current political atmosphere and scene in most parts of the world is devoid of moral ardour and sound convictions.
Opportunism has become a matter of faith with politicians or those having even a slight bent of mind towards politics. Patriotism has come to be identified with
politics and well illustrates Johnson's dictum of patriotism being the last refuge of scoundrels.

Which of the following is '"CORRECT" with respect to the passage?
Options:

1) current politics has moral ardours and sound convictions

2) traditional values are not the symbol of rectitude and righteousness
3) politics is the science who gets what, when and how

4) politicians are selfish and self-seeking

Correct Answer: politicians are selfish and self-seeking

Candidate Answer: [ NOT ANSWERED ]

— /'“""“\\

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDUwNw==&appid=1368062d74107fc05177712c90c3885¢c 61/61





